
Stylohyoid

A. Origin: Clavicle

B. Insertion: Thyroid cartilage

C. Both are correct

D. Both are incorrect

Mylohyoid

A. Origin: Thyroid cartilage

B. Insertion: Mandible

C. Both are correct

D. Both are incorrect

Geniohyoid

A. Origin: Mandible

B. Insertion: Hyoid bone

C. Both are correct

D. Both are incorrect

Omohyoid

A. Origin: Scapula

B. Insertion: Hyoid bone

C. Both are correct

D. Both are incorrect

Sternohyoid

A. Origin: Mandible

B. Insertion: Hyoid bone

C. Both are correct

D. Both are incorrect

Thyrohyoid

A. Origin: Temporal bone

B. Insertion: Hyoid bone

C. Both are correct

D. Both are incorrect

Sternothyroid

A. Origin: Mandible

B. Insertion: Thyroid cartilage

C. Both are correct
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